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I go to school. She walks to the park. He is happy. 1feel cold.
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Active = o5l Object = Js2in  Verb= Ja5 Subject= Jecbs
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Active: Subject + Verb + Object + ......
Passive: Object + am/ is / are + Past Participle

1.They wash their car every week.
Their car is washed every week.

2. She writes two letters every day.
Two letters are written every day.

Ayl (oo diin 44 1) Olivuile LT - pyles

gy (oo diligd 390 sl 93 s g Suy 95 (o0 4ol 93 9,0 gl :polee

T.me/visionch ,sGs G was Ob) pawss JUIS

:Jol5 J> ole)

Active: Subject + have/has + Past Participle + Object +

Passive: Object + have/has + been + past participle
1.They have washed their car.

Their car has been washed.
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2. She has broken the glasses.
The glasses have been broken.
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Active: Subject + Verb + Object + ......

Passive: Object + was/were + past participle
1.They washed their car yesterday.

Their car was washed yesterday.

Al Ao 39 139 Oliiniolo : Jggons s 3939 |y Oliaiole LT : polas

2. He wrote the letters yesterday.
The letters were written yesterday.

R ER W m,.; jgﬁ.}l.ﬁb d.ﬁl.idg.q.‘:u M,: I, la 4.l 299 5|=|n9].ﬁ..o

:JolS 4l dS Ole)

Active: Subject + had + Past Participle + Object + ......
Passive: Object + had + been + Past Participle

1.They had washed their car.
Their car had been washed.
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2. He had posted the letters.
The letters had been posted.
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Active: Subject + will + Verb + Object + ......
Passive: Object + will + be + Past Participle

1. They will wash their car tomorrow.
Their car will be washed tomorrow.
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2. He will write the letters next week.
The letters will be written next week.
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Maryam washes the dishes every day.
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The dishes are washed by Maryam /her every day.
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Ali is a good student, isn’t he? T 4%0) Conss sl (295 jg0l iil> e

Reza isn’t a good student, is he? T 4%0) Cond s (295 g0l Liils Lo,

Aol Chdsee b iie (KoS J28 oUgS iaw g 531 AT
He speaks English well, doesn’t he?
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John studied hard, didn’t he?
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Tom never studies hard, does he?
There were few cars in the street, were there?
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She can speak English well, can’t she?
She is speaking English well, isn’t she?
She speaks English well, doesn’t she?
She spoke English well, didn’t she?

She has done her homework, hasn’t she?
She had done her homework, hadn’t she?

She has many friends, doesn’t she?
She had a party, didn’t they?

She has to go, doesn’t she?

She had to go, didn't they?

I am a teacher, aren’t I?

I am not a teacher, am I?

He hurt his hand, didn’t he?

There is a man in the yard, isn’t there?

My mother was cooking when my dad came home, wasn't she?
Ali studied hard, but his sister didn’t study at all, did she?
If you study hard, you will pass the test, won’'t you?
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The man is John's father. The man is talking to the teacher.

The man who is talking to the teacher is John’s father.
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The man is our teacher. We saw the man in the park.

The man who(m) we saw in the park is our teacher.
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The book is mine. The book is red.
The book which is red is mine.
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The book is mine. Tom is reading the book.
The book which Tom is reading is mine.
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The man that is talking to the teacher is John's father.
The book_that is on the desk is mine.
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If you study hard, you will pass the test.
L

1

You will pass the test if you study hard.
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If you save money, you can buy that car.
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If you studied hard, you would pass the test.
You would pass the test if you studied hard.
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If Ali were here, he could fix the car.
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Active: Subject + Modal Auxiliary + Verb + Object + ......
Passive: Object + Modal Auxiliary + be + Past Participle

1.They must wash their car.
Their car must be washed.
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2. He may post the letters tomorrow. The letters may be posted tomorrow.
.L:,J:MIJ)BCMIUS:@JL&MEJW .&SMM}‘JEMEMIW;LIQM

Jals" 422,38 ola3
had ole M‘(;AS‘M.MI 5 s 'el:r.il VALY olej »d {_5).{!_-} )5 i J8 as Sl 65 Ols sl s Ole) 0.._1.1

T (8 e JE5 sy 5 534y o
J=bo + had +Jaé|n3md.§i

I had written a letter. P91 Aibgi (gl 4l pe
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I had brushed my teeth before I went to bed.
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I went to bed after I had brushed my teeth.
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He got good grades because he had studied hard.
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He had played football.
Had he played football?
He had not (hadn’t) played football.
T.me/visionch B3lo Al ud o e b HeSS B pad Ob) (panass JUIS
09217257653 ooled o yled

Scanne d with CamScanner


https://v3.camscanner.com/user/download

